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Half — Yearly Examination — 2022
BUSINESS MATHEMATICS & STATISTICS
Class : 11 » Time : 3.00 Hrs
Marks : 90

Instructions: 1) Check the question paper for fairness of printing. If there is any lock of
. fairness, inform the hall supervisor immediately. 2) Use blue or black ink
tp write and underline and pencil to draw diagrams.
Part—1 1

Note: i) Answer all the questions 20x1=20
ii) Choose the most appropriate answer from the given four alternatlons and write
the option code and the corresponding answer

L. If a is square matric of order 3 then 1KAl is
a) KIAl b) -KIAl ) K’1Al d) -K’1Al

. If any three roues or columns of a determinant are identical then the value of the
determinant is

ro

a0 b2 ol d)3
3. If n(3 = n(; then the value of nc4 is ‘
a) 2 b) 3 c)4 - d)5s
4. Sum of the binomial coefficient is _ ' -
a)2" b) n’ i c)2n d)n+17
5. The angle between the pair.of straight line x* — 7xy + 4y? 0 is
Epst P | -1,V33. -1, V5
a) tan” ( 3) b) tan™ ( 2) ) tan (T) d) tan’ \/_)
6. The double ordinate passing through the focus is ‘ :
a) Focal chord b) latus rectum c) directric d) acis
7. The value of sin 28° cos17° + c0s28° sin 17° is )
1 -1
8. Iftan A =-§-and tanb=%then tan (SA + B) is equal to’
Ca)l - b) 3 03 . d)4
9. The minimum value of the function f(x)=[x] is
a)O b) -1 o c) +1 d) -c0
10. m (a ) =
a ' a X a
a) - Log pr- b)a | .c)x loge Id‘)‘a log e
11.Average fixed cost of the cost function '
2 5 14 21
a); . b) o o)—— d)—
12.The demand function is always ‘ .
a) Increasing function b) Decreasing function
c) Non — decreasing function d) undefind function

13.1f 4 is the annual payment, 7i is the number of periods and 7 is compound interest for rs 1

then future amount of the ordinary annuity is
A=A +DL+) -] b) A =2 [(1+i)"-1]
L

l

op=2 d)P==(1+i)[(1 +i)]
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14 An annuity i which payments are mode at the beginning of each payment period is called
a) Annuty due

b) An immediate annuity
o) Perpetual annuity

d) none of these
13 Which of the following is positional measure? ’

a) Range b) Mode ¢) Mean Deviation  d) Percentiles
1o Probability of an impossible event is
a)l b0 ¢)0.2 d) 0.5
17.The correlation coeflicient is ' ,
Qx gy COV @y o
a) T (Xy) = —2 = Y
(X-) cov (x,v) b) r (x,y) Cay ay)

¥

_cov (xy
dr (xy) =22
X -
18.The term regression was introduced by

a) R.A Fisher b) Sir Francis Galton

c) Karl Pearson , d) Croxton and Cowden
19.A Solution which maximizes or mimizes the given LPP is called

a) a solution ~ b) a feasible solution
¢) an optimal solution d) none of these
20.Network problems have advantage in terms of project
a) Scheduling " b)Planning
c¢) Controlloing d) All'the above
| PART II

Note : Answer any 7 questions in which question no . 30 is compulsbry' 7x2 =14

21 IfA = (_32 _69) then find A™".
‘1 n

22) Findn,—+—=
£4) Fman o T o 11

23) Find the angle between the lines whose slopes are % and 3.

sin26
24) Show that Py tan 6.

25) If f(x) = 2" then show that f(x) . f(y) = f(xt+y).

26) Find the Stationery vz?lue and the stationery points f(x) = x?+~ 2x — 5.

27) Find the market value of 325 shares of face value Rs.100 at a premium of Rs.18.
28) Define Baye’s Lhcorclh.

29) From the following data calculate the correlation cocefficient

Ixy= 120, Zx* =90, Iy’ = 640

30) Solve: =0

2x 3
416
127
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PART I
40 is compulsory 7x3 =21

www.Padasalai.Net

7 questions in which question no .

Note : Answer any
a2 3landB= —1 l}llhw verify adj (AB) = (adj B) (adj A)
AR § I Q1 -2
320115 3r=15C 3. find
_sxy - 2y? 1 Tx kvt 10 =0

. ~ . ‘l
cen the pair of straight 3x

33.Find the angle betw

i . . V3
34.Show that Sin 20°Sin 40° Sin 80° =3~

’

- . Sin3
35.Evaluate lim————

x—o0 Sin 5x
36.The total cost function for the production of x units of an item is given by find

C(x) =2 x* +4n” = 25047

ii) Average variable cost function

1) Average cost funftion
for 12 years of the rate of

37.Find the amount of an ordmary annulty of Rs 3,200 pcr annum

interest of 10% per year [(1. 1) =3.1384.
38. Find the first quartile and third quartlle for the glven observatlons

2,4,6,8, 10,12,14,16,20,22

39. Write the properties of regression co-efficients
40. Find the marginal production of capital (K) and labour (L) 1f P=8L-2 K +3K2-2L2

+7KLwhenK=3andL=1
o PART — IV
Noté : Answer all the questions | | (7X5=35%
4]. a) In an economy there are two industries P, and P, and the following table gives the

supply and the demand posmon in Crorcs ol‘ supp]y of rupees

[ oo diginn Qo R R — -
‘ PrOdUCUOH Sector [ Consumption S«,ctor Final Gross output |
I _ﬁ!’_!____ e P, demand
= LA : 25 B 15 | 30
E o PZ 20 30 10 i 60
Dn,terme tho oulputs whc,n thL final dcmand changes (n h for Prand 43 for P,
) (or)
b) The demand for a quantity A 1s g1 3-2pi-3p>” Find the partial clasticities -2
when p; = pz = 2 EP, and N‘_
42. a) Find the term independednt of x in the expansion of ( 2x 4 Ly
s Ix +
(OR)

b) Which is better investment ? 20% stock at
) o Stock at 140 (or) 10% stock at 70
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gth of latus rectum for the \

' .0 of di :x and the len \
43. a) Find the axis, verteX, focus, quation of du‘ectnx an \

parabolax +6x—4ay+21=0 ]
e reports that there is a six. Whatis

b) X speaks truth 4 out of 5 times. A die is thrown. He

the chance that actually there was a six?

44. a) Prove that
(i) tan’ (—) + tan (—) =tan (-)
(OR) | o
=7 . Find
b) For the given lines of regression 3X — 2Y =5and X—4Y 7 in
i) co-efficient of correlation

i) Regression co-efficient
+y=0

45. (a) Is y = sin (<log x) , then show that Xzy2 +Xyi
(OR) '

dy

(b) Letu=log
46. Calculate the earhest start time, earliest finish time, latest start time and latest finish time

of each activity of the project given below and determine the critical path of the project

and duration to complete the projects :
Activity 12 |13 |15 |23 |24 34 |3-5 "|3-6 4-6 5-6
Duration 8 7 12 [ 4 10 3 5 10 7 4
in week) :
: (OR)
b) Show that the matrices
" s
1 3 71 . 35 35
A=[4 2 3] andB=|2> 2 Z -
b2 1 1
_ : 35 35
Are inverses of each other - ‘ _ _
47 (a) Resolve into partial fractnons | ' -
2x+1
(x-1)(x2+1)
(()RD . !

(b) Find the equation of the circl i
€ passing through the po; ‘
, . _pomts(O,),(],Z)and(.’!O)/

¥
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